105 7 % ¢ RKIFELE B A

1. :téS-v'L'r’)s ed B S BT A BAeT L
(1),(3,5),(7,9,11),(13, 15,17, 19),...

(@) K% nlodyg A3 o
(b) FFR% n 27 &F Bfr o
() fI* +ifeni s » 1P+ 2243 445 +... 40 =7
2.MEEE N BEIP?P HEBEFFAEEN 3T PR B BT r )7
Feddk o pldrdil1,2,3,4,5,6 %2 4 > - ¥ M pFFdk 135 LK) )°
B2UERE > T RS- A L F(n) 27 ng BEFEF- %
FE A A B TR
(@) F(1)+ F(2)+ F(3) =7
(b) # F(n) =aF(n—1)4+bF(n—2)+c¢,n>3> Fa,bce
(c) F(6) =7
3. T A Jerkeb ey - B E RIAA 0 Ryt B RI4E PR WA D
4,y =51 —5x? —x+1 4oy = 5pr? — Tlpx + 66p R = BB =R

Gy BRI E A Kp =7

}lg_

tan A+_B

5. . AABC # » LA=2/C,BC =5,AC =6 > :ﬁtTQB:?
an ——
2

po P24 (P42 43440
nooo (13423433 4o 4 n3) (140420434 + -+ nt)

7. 4B > ZAOB = 60°, FALOA,EB1OB*» % EA = o,EB = b’ % OF =
onéA—Fﬁ(ﬁ Tt a,bE T a0



0)

B

8. 3K (21, 1), (¥2,Y2), - (0, yn) AFFLANBE -3 2 A 3 > J 2 % SR & 0

RO SRR 20, 45,0 € {1,2,3,... n} > 2 FHB 5 Loy +10,i €
{1,2,3,...,7%}’?}’%%’37 te ,,'Z" A,@;loo;},gﬁ_&a
(a) B> 3G F S Fenip i Bl E 5 e W BRLEARE?

(b) # > & F 4T S F e [F7 MM F LT F % wirdfrls s 9

=\

’A’ﬂ
‘z

P R AR Y > B AR PMA ? TR RT A&

7
%fpé?];—lgﬂ °

Y -
Qe —

‘W



